MARKING SCHEME, BSEH Practice Paper 2,10™
MATHS(Standard) ,March-2024(ENGLISH MEDIUM)

Q. Expected solutions mar
no. ks
Section-A
1 |(b) ab? 1
> |(c)20 1
> | (b)2
4 1(b)32cm 1
> | (d)o.8 '
° (a) (-6,7) :
7 | Equilateral 1
8 (a) 300 1
9 |two 1
10 | false 1
11 |9 1
12 _ yJ1+cot?8 1
¢ T oot
13 (b)600 1
14 1(b) 32 cm 1
15 | 78.57 cm? 1
161 (@a)a cone and a cylinder 1
7 1 (b)24 !
1 1
18 (©) .
19 | (b) Both Assertion(A) and Reason (R) are true but Reason (R) is the not 1
correct explanation of Assertion(A).
20 | (d) Assertion(A) is false but Reason(R) is true. 1
SECTION-B
21 Here a1=2,b1=3,c1=—5
a2=k,b2=—6,c2=—8 1/2
1/2

. . 1 1
For unique solution; — # —
2 2
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2 —6 -2
2 -1 1/2
i /
2
OR | Given equations can be written as:
21 2
—t— =1
2 3
3 +4 =—6....... (i)
—— =3
3
3 — =9 (ii) 1/2
Equation(i) — Equation(ii) (3 +4 )—(3 — )=—6-9 1/2
5y=-15 =—3 1/2
Substituting the value of y in equation(i)
we get 3x+4(-3)=-6  3x=-6+12
6 1/2
=—=2
3
22. | We know that the diagonals of a parallelogram bisect each other. 1/2
So, coordinates of the mid-point of diagonal AC are same as the
coordinates of the mid-point of diagonal BD.
Since, the midpoint of the line segment joining the two points (x1,y1)and
(X ) is ( X1+X2 Yy1tYyo )
2,Y2 5 ' o
6+9 1+4, _ B+ 2+3 1/2
=) =G
15 5y _ (8+_ 5) 15_8+
=053 7= /2
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1/2

23.

In AABC and ADEF,
C= E(angular elevation)

B= F=90
AABC ADFE (By AAA similarity criterion)

(If two triangles are similar then their corresponding sides are
proportional.)

28
h—GXT
h=6x7

h=42m

Hence, the height of the tower is 42 m.

1/2

1/2

1/2

1/2

24.

tan(A+B)=v/3=tan 60°

tan(A-B)= %tan 30°

A-B= 30°-———(ii)

1/2

1/2
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Solving (i) and (ii), we get 1/2
A=45°
and
1/2
B=15°
OR o i
24 cos45 V2
sec30 +cosec30’ 2.4 1/2
V3
1. V3 1/2
V2 2+2V3
V3 L V2 (¥3-1) 1/2
2VZ(V3 + 1) V2(3—1)
(3—V3) V2 _ 3vV2 -6
2x2%(3—1) - 8 1/2
25.
Radius = 45cm
360° o
8 ribs implies angle subtend between consecutive ribs = 3 =45 1/2
Area between consecutive ribs =—— x nx(45)? 1/2
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45 45 x 45 - 22275
360 - 28

= 795.22 cm?

1/2

1/2

SECTION-C

26.

Consider that V2 + /3 is rational.

Assume V2 +V3 =a , where a 1s rational.

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

So,V2=a-V3
By squaring on both sides,

2=a%+3-2a\3

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

V3 = (a2 + 1)/2a, is a contradiction as the RHS is a rational
number while V3 is irrational

Therefore, V2 + V3 is irrational.

27.

Since # and B are the zeros of the quadratic polynomial px)=4x"+3x+7

—Coefficient of x
Coefficient of x*

-3

a+ 1=

1/2

Download from www.MsEducationTv.com




B Constant term

* Coefficient of x° 1/2
_7
4
0 0 0 S S S S '
I |
— RS e
a f
_ fta
ctf? 1/2
...... __3
4
L
= T X 7
1/2
__3 .............................................................................................................
7
1/2
1,103
The valueof & B is 7 .
28. | For equation x-y=1,solution table is
X 1
y 0 1 1
On the graph paper,plot the points A(1,0) and B(2,1) to obtain the graph
of x-y=1
For equation 2x+y =8,solution table is
X 0 1 1
y 8 6
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On the graph paper,plot the points C(0,8) and D(1,6) to obtain the graph
of 2x+y=8

..................................................................................................................

Clearly,the graph of two lines intersect at a point(3,2)
x=3,y=2 is the unique solution of the given system of linear equations.

OR
28

Let cost of each bat = Rs x
Cost of each ball =Rsy

Given that coach of a cricket team buys 7 bats and 6 balls for Rs 3800.
So that 7x + 6y = 3800

6y = 3800 — 7x
Divide by 6 we get
y =(3800-7x) /6 ... (1)

Given that she buys 3 bats and 5 balls for Rs 1750.s0 that
3x+5y=1750

1/2

1/2

1/2
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Plug the value of y

3x +5((3800-7x) /6) = 1750
Multiplying by 6 we get

18 x + 19000 — 35 x = 10500
-17x =10500 - 19000

-17x = -8500
x=-8500/-17
x =500

Plug this value in equation first we get
y=(3800-7 % 500)/6

y =300/6

y =50

Hence the cost of each bat = Rs.500 and the cost of each ball is
Rs.50

1/2

1/2

1/2

29.

If P(x,y) 1s equidistant from the points A(3,6) and B(-3,4),
Then AP=BP

----------------------------------------------------------------------------------------------------

-----------------------------------------------------------------------------------------------

1/2

1/2

1/2

1/2
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_12x-4y+20=0

1/2
3x+y-5=0 is the required relation. )
1/2
30. | LHS= (sin*®—cos*6 + 1) cosec?® 0
=[(sin?> B — cos? 8)(sin? B + cos? B) + 1] cosec? O /
=[(sin?8 — cos?0)(1) + 1] cosec? O »
=[(sin*08 — cos?0) + 1] cosec? 1/2
=[sin? 8 — cos? B+sin? B + cos? 0] cosec? O 1/2
=2sin® cosec? 8 12
—=2=RHS 1/2
OR | LHS= (sin A + cosec A)*+ (cos A + sec A)> =
30. 1
=sin? +cosec® +2 +c0os® +sec® +2 =
= (sin® +cos?® )+(cosec® )+(sec® )+ 2 + "
2 /
= [+1+cot?® + 1+tan® +2+2= .

.......................................................................................................................
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=7+cot? +tan? =RHS

1/2
31. | Let AB and CD be the two poles of equal height and their heights be h m.
BC be the 80 m wide road. P be any point on the road.
Let CP be x m, therefore BP = (80 — x) .
Also, APB =60°and DPC =30°
D A
1/2
h h
30° ./ 60°
C x P 80 -x B
80
In right angled triangle DCP,
1/2
o CD
tan30 -
_1 1/2
X 43
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In right angled triangle ABP,
tan60°=AB/AP

h/(80—x)=\3
h=V3(80—x)
x/N3=V3(80—x)
x=3(80—x)
x=240-3x
x+3x=240
4x=240

x=60

..............................................................................................................

X 60
=——=—==20V3
v 20
Thus, position of the point P is 60 m from C and height of each pole is

20V3 m.

Height of the pole, h

1/2

1/2

1/2

SECTION-D

32.

Sn=4n—n’
Si=4-1=3=a
S,=8- 4=4

an= Sn — Sn-1 =(4n—n?) — { 4(n-1) —(n-1)*}=
=4n —n?-4n +4 + n? -2n +1
dn= 5—211

=5 -2(2)=1
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1
a10= 5 -2(10)= 5-20=-15 1
33. | Given:In quadrilateral ABCD,O is the point of intersection AC and BD
AO CO
- 1/2
such that 26 50
To Prove: ABCD is a trapezium. 12
D c
% 1
A B
Construction: Draw OE AB 1/2
Proof:In ADAB, OE AB
% = % .............. (1) (Basic Proportionality Theorem) 1/2
AOCOG ................................................................................................
0 3
2= 1/2
oC oD (11) /

.................................................................................................................
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. __OA _ AE
From (1) and (i1) o B
1/2
.......................... OA_AE
NOW,II’I AADC, E — 5
OE DC ... (ii1) (converse of Basic Proportionality Theorem) 1/2
Also OE AB .......... (1)
From (iii) and (iv)
DC AB 12
quadrilateral ABCD is a trapezium. 1/2
34.
f T =
2.4em
1/2
rf_" y
1.4em
Height of the cylinder = Height of the cone =h =2.4 cm
Diameter of the cylinder = diameter of the cone=d = 1.4 cm 12

Radius of the cylinder = radius of the cone=r=d/2=14/2cm=0.7
cm
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Slant height of the cone, 1 = V[r2+ h?]
1=[(0.7 cm)*+ (2.4 cm)?]

=[0.49 cm? + 5.76 cm?]

=[6.25 cm?]

=2.5cm

TSA of the remaining solid = CSA of the cylindrical part + CSA of
conical part + Area of one cylindrical base

.................................................................................................................

=ar (2h+1+r)

=22/7x0.7cm*x (2%x24cm+2.5cm+ 0.7 cm)

...................................................................................................................
17.6 cm

Hence, the total surface area of the remaining solid to the nearest cm? is
18 cm?.

1/2

1/2

OR
34.

Length of the model = Height of the cylindrical part + 2 x Height of the
conical part

Volume of the cylinder = nr’hy1, where r and h; are the radius and height
of the cylinder respectively.

Volume of the cone = 1/3 mr’h,, where r and h; are the radius and height
of the cone respectively.

1/2
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Tem

12 cm .

Height of each conical part, h, =2 cm

Height of cylindrical part = Length of the model - 2 x Height of the
conical part

h1=12cm-2%x2cm=8cm
Diameter of the model, d =3 cm
Radius of cylindrical part = radius of conical part=r=3/2cm = 1.5 cm

Volume of the model =2 x Volume of the conical part + Volume of the
cylindrical part

...............................................................................................................

= mur? (2/3 ho + hl)

=22/7*x1.5cm x 1.5 cm % (2/3 x 2 cm + § cm)

1/2

1/2

Download from www.MsEducationTv.com




=22/7x1.5cm x 1.5 cm % 28/3 cm

1/2
=66 cm’
Thus, the volume of air in the model is 66 cm’.
35.
class interval class-mark ( j) | Number of
children( ;)
11-13 12 7 84
13-15 14 6 84
15-17 16 9 144
17-19 18 13 234 1+1
19-21 20 f 20f
21-23 22 5 110
23-25 24 4 9
=44+f =752+20
Mean = =——— 1/2
752+20
18 = —— 1/2
8 44+f
18(44+f) =752+20f
1/2
792 +18f = 752+ 20f
1/2
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1/2

.....................................................................................................................

792-752 =20f-18 f
40 = 2f
1/2
f=20
Hence, missing frequency f =20
OR
35 Ave
, Number of patients
(in years)
5-15 6
15 - 25 1
25 - 35 21
35 - 45 23
45 - 55 14
55 -65 5
From the table, it can be observed that the maximum class frequency is
23, belonging to class interval 35 — 45.
1/2
Therefore, Model class = 35 — 45
Class size, h=10 1/2
Lower limit of model class, I = 35
1/2
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Frequency of modal class, f; =23

.................................................................................................................

...........................................................................................................

................................................................................................................

— 35+ [2/(46 - 35)] x 10

=35+ (2/11) x 10

.....................................................................................................................

=35+1.8
=36.8

So, the modal age is 36.8 years which means the maximum number of
patients admitted to the hospital are of age 36.8 years.

1/2

1/2

1/2

1/2

1/2

1/2

1/2

SECTION -E

36.

(i) Let total number of camels be x?
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Then no. of camels seen in forest = x?/4
No. of camels gone to mountain = 2x
No. of camels seen on the bank = 15

Therefore, Total no. of camels,
x?=x%/4 + 2x + 15
x% = (x*> + 8x + 60)/4
4x% = x% + 8x + 60
3x?-8x-60=0

(3x +10)(x-6) =0
(3x+10)=0or(x-6)=0
x=-10/3orx=6

on squaring,
x?>=100/3 or x* =36

No. of camels can not be a fraction
Hence x2 = 36

No. of camels = 36

1/2

1/2

1/2

1/2

OR
36.

Discriminant D= b? -4ac

Roots of quadratic equation a x?> + b x +c = 0 depend on nature of
Discriminant D

If D= b?-4ac > 0 then roots are real and distinct.

If D=b?-4ac < 0 then roots are not real.

1/2

1/2

1/2
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No. of camels seen on the bank = 15

1/2
(ii)  No. of camels gone to mountain = 2(6)=12 1
(iii)
36 1
no. of camels seen in forest = x?/4 =2 =9
37.| (1) = 180° — 30° = 150° 1
( = = 90°)
(i1) + + 150° = 180°
2 =30° =15° !
=90°—15°=75° 1
OR (i1) = = 75° (Angles in the alternate segments) 1
_900
( ) 1
(iii) Kite !
38. | (1)Possible outcomes are 4 which are HH,HT,TH,TT 1
1
(i1)Probability of failure= 1- Probability of successs= 1 - % = % =27%
(111) Cases favourable to atleast one head are HT,TH,HH 1
P(Akriti will start the game)=P(getting atleast one head)=
= P(HH,HT,TH)=- 1
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OR (iii) Cases favourable to atmost one tail are TT,HT,TH

P(Sukriti will start the game)=P(getting atmost one tail)=
=P(TT,HT,TH)=-
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MARKING SCHEME ,BSEH Practice PAPER 2,10™ MATHS ,March 2024

(& areT)

Q.

nO.

Expected solutions

marks

Section-A

(b) ab’

()20

(b)2

(b)32 cm

(d)0,8

(a) (-6,7)

HHdg

(a) 308

ar

10

dleld

11

9

12

__+/1+cot28

Sec cot

13

(b)60°

14

(b) 32cm

15

78.57 cm?

16

(a)Uh A% IR TH Joid

17

(b)24

18

© 5

19

(b) IAfFFUA (A) IR d& (R) c&T T g IR d& (R), IFRa=(A)  Hr

e egrEdr JEr gl

20

(d) 3R (A) TTed §, e d (R) eI &

gus -
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21.

?JE\T’ a:1=2,b1=3,c1=-5

a2=k,b2=—6,c2=—8 12
3efadT g & v —i = —i 12
.............................................. i

W™ TS,
2 - -1 1/2
T2
............................................................ e y
Y | fET T FHSIN H 3§ YpR for@r o1 Jadr g
T2
2112 3
3 +4 =—06......... (i)
_—— 3
3 1/2
3 — =09..... (ii)
gHEHoT(i) — gHeoni) (3 +4 )—(3 — )= —6-9 1/2
.............................................. : y=15:—3 y
HAIOT (Y y T AT gfaeaiid st 9T
gH YIcT glar g 3x+4(-3)=-6
3x=-6+12
= g =2 1/2
2 g S § B TEie aqee & et v q@y ) gEefantod
A g
AT, [ahoT ACh #HEF-foig & fdenes faeol BD & #Ew-fog & 1/2

e & gAR &
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ﬁ:ﬁ*, ar ﬁg&ﬁ (x1,y1)3IR (x2,y2) P A arel I@@s &1 :naﬂ%:g
( X1+Xo yi1ty2 )%
2 ' 2

6+9 1+4 8+ 243 1/2
2= G 7)
15 5 8+ 5 15 _ 8+
GN=03) 7=% 1/2
15 = 8+ =7 1/2
23.
D
A
|
B6m
Cm OB E 28m F 1/2
Shadow
In AABC and ADEF,
C= E(@UT 3eaade)
B= F=90 1/2
AABC ADFE ( AAA §HETAT Sl SdT)
(TfE & THegeT AT § o SoTeh! HIIT $IT¢ HATEUTT Bl &)
6_4 1/2
28
o
h=6x—- 1/2

h=6x7 h=42m

37T, AT S A5 42 HeX g
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24,

tan(A+B)=v 3=tan 60°

A+B=60°----- (i) 1/2
tan(AB):i_t ..... 3 O .......................................................................
- Nl an "
A-B=30°-—--- (ii)
(i) 3R (i) T T A W, §H WIed 8T §
A=45°
1/2
3R B=15° 1/2
37T . 1
- cos45 . V2 _ 1/2
30"+ 300 2,5
24 SecC cosec \/§+2
ix ...... \/g ...... _ .......................................................................................................
V2 2+ 23 1/2
V3 w V2 (V3-1) 1/2
2V2(V3+1) V2(V3-1)
3—V3) V2 _ 3vV2 -6 1/2
2%x2x%(3-1) 8
25.
=g = 45 QA
g et &7 3 § B @ HOMAR At & dT F P07 W = -
1/2

=45°
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_ 45 172
-_— = 2
360 (49
45 22275 1/2
=— — X X =
360 45> 45= =
= 795.22 cm? 1/2
gus -
26. |\ ofifSw fF V2 + V3 & & gl
1
sHf V2 + V3 =g SI8T a IRAT gl
V2=a-3
el % gIT el X
1
2=a’+3-2a\3
V3 =(a2+ 1)/2a, Teh TORIETHTE § Fifeh RHS Teh IRAT T&AT §
Safeh LHS, V3 39AT §
1

AT V2 + V3 3aRAT
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27.

I @ IR A e age P TEIT 5 gorms §
— FIAS -3

sefed O+ = = =2

Za:ra;ruw 4

WY 7
2araonie 4
1 1 B+a
gH UIed Blar g — +— = —
B aB
=&
_ 4
-7
4
-3 4
=X —
4 7
_ 3
7

1/2

1/2

1/2

1/2

1/2

1/2
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28.

THROT x-y=1 F AT, g GRof §

X 1 2
y 0 1

IqMH IR T, x-y=1 Tl AH Ied A & AT &g A(1,0) 3R B2,1)
B 3T FY |

HEIUT 2x+y =8 & iU, T IROT &
X 0 1
y 8 6

2x+y=8 T I It =l & faIw I 9 1 fdg C(0,8) AR
D(1,6) I ATelf@d HY|

................................................................................................................

TASC &G F, &1 YW 1 A6 Toh &g (3,2) R Gidese Har §
x=3,y=2 feu 70 V@ waeor e &1 3efadT gof gl
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OR
28.

AT fh 9l Jeof HT Hed =% X

Ycdeh 3G A Hod = X y

feam arar & f6 e Tohohe &9 &1 g 380039 H 7 dcdl 3iR 6
I @lear gl

7x + 6y = 3800

6y = 3800 — 7x
68 AT ¢l W &H UICT &idr g

y =(3800—-7x) /6 ... (1)

e arr & 6 98 175039 H 3 oo 3T 53¢ @ledr gl
3x+5y=1750

y T AT @ W
3x + 5 ((3800 — 7x) /6) = 1750

69 IUT el R g fAerar &

18 x + 19000 — 35 x = 10500
-17x =10500 - 19000

-17x =-8500
x=-8500/-17
x =500

X T HTel FHROT (1) @l W

y =(3800-7 % 500)/6

y = 300/6

y =50

Id: IS Toof dT AT =% 500 3R 9@« g 1 HFAT 350 &

1/2

1/2

1/2

1/2

1/2

1/2
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29.

Tfg P(xy) T§g A(3,6) 3R B(-3,4) & FHEY &,
AP=BP

-------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------

3x+y-5=0 313fis¢ HY g

1/2

1/2

1/2

1/2

1/2

1/2

30.

LHS= (sin*@ —cos*8 + 1) cosec? O
=[(sin? 6 — cos? B8 )(sin? 8 + cos? B) + 1] cosec? B

1/2

1/2

1/2
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=[sin? 8 — cos? B+sin? B + cos? O] cosec? O

1/2
=2sin® cosec? 8
1/2
=2=RHS
1/2
3rarar | LHS= (sin A + cosec A)*+ (cos A + sec A)? =
30 |=sin® +cosec® +2 +cos? + sec? .
2 =
= (sin® +cos?® ) +(cosec® )+(sec’® )+ 2 12
2
= 1+1+cot? + 1+tan®> +2+2= 1
=7+cot? +tan> =RHS 12
31.

AT AB 3R CD §HT 3918 & &l @ § 3R 336 38
hm#¥| BC 80 #Hiex @iy @seh g1 P Hseh W Hig o fog g

AT CPxm &, 39T BP = (80 — x)m &

g g, APB=60°3 DPC = 30°.
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30°

60°

................................................................................................

o_ CD
tan30 -
_ 1
X /3
X
h_ﬁ'

....................................................................................................

=] 80 -x B

THSIOT TA3ST ABP #,

tan60°=AB/AP

.......................................................................................................

h/(80—x)=V3
h=v3(80—x)
x/\3=V3(80—x)
x=3(80—x)
x=240-3x
x+3x=240
4x=240

x=60

1/2

1/2

1/2

1/2

1/2

Download from www.MsEducationTv.com




o x 60 1/2
GFEy #ir ﬁ'lé,h—\/g—ﬁ:%\/g
59 9K, fdg P AT C A 60 AeX & I 93+ T
HT FAS20V3 m. ¢ |
gvus-g
32. Sn=4n — n?
Si=4-1=3=a )
S>=8- 4=4
an= Sn — Sn-1 =(4n—n?) — { 4(n-1) ~(n-1)*}=
=4n —n? -4n +4 + n? -2n +1
dn = 5—211 !
1
a="5 -2(2)=1
=15 -2(3)=-1 .
ajo= 5 -2(10)= 5-20=-15 '
33. | faar arm & Ag¥sT ABCD #, O AC 3R BD &1 Yideoe g
e
AO CO
3 YR b 20 50
1/2
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f8cy &% §: ABCD Ush HH gl

....................................................................................................

399fa: ADABH, OE AB
B A (i) (MU SR TH)

oD ED

...........................................................................................................

.......................................................................................................

............................................................................................................

TTT g ,0E AB ... (iv)
THRLOT(jii)3R (iv) &, DC AB

1/2

1/2

1/2

1/2

1/2

1/2

1/2

1/2

Download from www.MsEducationTv.com




1/2
E ,rl "*-- ]
I.\‘:L 2.4em
* 1/2
= !
1.dem
Solel T TS = AP H 32S = h=24 G
) 1/2
SoleT & T = %@wa’:lm=d:1.4ﬂﬁr
SoleT dr BT = eif BT =r=d/2=14/2
AT = 0.7 QAT
%@ﬁﬁﬂmm‘" U=V 2+ 2
1=[(0.7 cm)>+ (2.4 cm)?] !
=[0.49 cm? + 5.76 cm?]
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=1[6.25 cm?]
=2.5cm

......................................................................................

T §T B T Pl TSN &AHel = FelaArehR HIIT

1
I dsh IS STl + AFdIhR HTIT & dsh
T8 &A%l + Teh SolellhR TR I &Thel
= 2nrh + mrl + mr? 1
=nr (2h+1+r)

1/2
=22/7x0.7cm*x (2x24cm+2.5cm+ 0.7 cm)
=2.2cm X 8 cm

1/2
=17.6 cm?

H:, AV B & fAhecdd A2 dh oI T8
STl 18 ARG
37ar 34. HIST &I ol€ls = SoldlPR HNET &l A5 + 2 x
QFATPR HET &1 FATS
Sole T 3MIdeT = nr’hy, STET 1 3R hy HHAT: ST
Fr Fear 3R 39 B
1/2

%if T 3RIdT = 1/3 nrehy, ST&T 1 3R h, HHAL: aif
Fr Bar 3k F g

...............................................................................
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2cm hi 2cm

3cm

12 cm

Ul AFATPR HRET &1 FdTS, h, =2 JHT

TR AT T FATS = HAlS &l dldlg - 2 x

QFATPR HET &1 FATS
hi=12cm-2x2cm=8 cm

ATSo &1 T, d =3 AT

ST A1ET HT AT = qaarep AT S Faar
= =32 3 = 1.5 qAY

....................................................................................

....................................................................................

...............................................................................

=mr? (2/3 hy + hy)

=22/7x1.5cm x 1.5cm x (2/3 x 2 cm + 8 cm)

1/2

1/2
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=22/7x1.5cm x 1.5 cm x 28/3 cm

=66 cm?

1/2
37d: AlSdT H gdT ol 3IdeT 66 THE T
35.
I 3T gt -Reg( ;) [T A
qE&d( )
11-13 12 7 84
13-15 14 6 84
15-17 16 9 144
17-19 18 13 234
19-21 20 f 20f
21-23 22 5 110
23-25 24 4 96 141
—44+f =752+20
AL = =—— 1/2
752+20
18 = 44+f 1/2
18(44+f) =752+20f
1/2
792 +18f = 752+ 20f 1/2
792-752 = 20f-18 f
1/2
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f=20
AT AT IRIRAr f =20

1/2

OR 35.

3y (st 7 ) AOST fr gEar
5-15 6
15-25 11
25-35 21
35-45 23
45-55 14
55-65 5

dTfeleT T, Ig ¢W@T oIl TohdT & o 3f8hds gar
SRERAT 23 §, S 397 3R 35 - 45 & Tefd
gl

a'g'aa?a?‘r= 35 - 45

1/2

1/2

1/2
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agﬂma?‘rﬁramm,ﬁ:B 1/2
Igolh I H S Uge died Ja1 Sl IRaRAT= fo =
21’ 1/2
Waﬁ%&ammﬁaﬁ@rmﬁ:m "
a§T“|—°F=1+[(fl—fo)/(2f1—fo—f2)] X h 1/2
=35+[(23-21)/(2x23-21-14)] x 10

1/2
=35+ [2/(46 - 35)] % 10
=35+ (2/11) % 10 V2
=35+1.8
=368 d¥ 1/2
,HAISel 3 36.8aY &, et 31 & foh 3readrer
H 9dl 87 arer AT fr 31f¥eradd I&aT 36.8 AW
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dr Y F B

36.

(i) AT et 6T PoT FEAT X &

a9 ST H @ 9T el hr T&IT = x2/4
UgIS U I el &l T&AT = 2x
Tt & fFaR W W T 3l & &1 = 15

....................................................................................

SHTAT, e & ol HET,
x? =x*/4 + 2x + 15
x% = (x2 + 8x + 60)/4
4x? =x*+ 8x + 60
3x2-8x-60=0

(3x +10)(x-6) =0
(3x+10)=0or(x-6)=0
x=-10/30orx=6

x?2=100/3 or x> =36
>el T T&IT et & AGT & Fhar
sqfov, Zel i Sl TET,
x% =36 i

1/2

1/2

1/2

1/2

OR () EidaTd AT a x> + b x +¢ = 0 &
Aol fafderaet D &1 gopfd W @R aXd &

g D= b® -4ac >0 f H dEdfds IR A=
gl

1/2
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1/2
Ifg D= b? -4ac <0 A HT IS AdT ¢ |
................................................................................ 1/2
&Y F PR W & 3T el Fr @ ar = 15 1/2
(i) I8TS UX 1T Jel & &A1 = 2(6)=12 !
(iii) 1
mﬁa@mﬁﬁM=le4=i—6=9
37. (i)
1
( — = 90°)
(ii) ) + + 150° = 180°
2 =30° =15° 1
............... e
1

OR (ii) = = 75° (VHIAR @S & hioT)
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(ili) TAIT

(i) Gafad gRoME 4§ S HH,HT,TH,TTE

(i) TOPorar T FHGAT=1-ThIdr HT FHTTAT=1 -

73 27
—_—=—_=270
100 100 27%

(iii) P T HH T IdH F uar & Fefaa afond =
= HT,TH,HH

P(3TTIT Wel Y& HLaM)=P(FHHA & A Teh TodH
oflell)=
= P(HH,HT,TH)= -

37erar (i) TRdH Th qeT & uat & gonfaa aRome =
= TT,TH,HT

P(EFTT Wel Y& HWM)=P3TTRTH Ueh weT Hred
FT)=
= P(TT,HT,TH)=-
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